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W}uch of ‘the following waterwaY5 has been
declared by the Governmeént as the Natlonal

" Waterways N.W. No. 27
(1) The Ganga river between Aﬂahabad and

Haldla (1620 km)
The Brahmaputra Tiver: between Sadiya
and Dhubri (891 km)

The  West-Coast L
- (Kottapuram — Kollam, Udyogamandal and

Champakkara Canals — 205 k)

(2)
(3). canal Kerala:-

(4) Spec1ﬁed Stretches of Godavari ' and
- , Krishna rivers along . with
. Kakinada — Puducherry Stretch of Canals _
(1078 km)
(6) Not attempted

Selling oﬂ’ a part of the equity of a Pubhc Sector
‘Enterprise (PSE) to the publiciscalled .

(n
@
(3)
(4)
(5)
In a Market Equlhbnum ﬁgure, if the Demand

Nationalization
Disinvestment :
Delimitation
Communisation ‘

Not attenﬁpted :

" curve shifts leftward and the Supply curve shifts

rlghtward mmultaneously, what is-the impact on

. Equilibrium price ? - .
(2)
(3

Decreases
Increases
'Remains constant
(4) ‘vRemains undecided, ey
. -

Not attempted
] . ‘( |

. India’s first natlonahst art school was estabhshed
©in Wthh Umvermty in 19192

(1) Ahgerh Muslim University |
¢ Visva-Bharati University
Banaras Hmdu Umvermty
A]lahabad UmverSIty

N ot attempted

4)
(5)
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Which among the following was/were feature(s) of
‘Subsidiary Alliance’, a system devised by the

. British in colonial India ?

(a) It was devised by Lord Wellesley.

(b) A British army contingent was to be
stationed in the territory of the ally,

" (¢) The ally could never get into agreements

with any other rulers.

. (d) The British were to protect the ally only

. from the internal threats to power.
Choose the correct option from the codes given

- below

(1) Only (b)

@ (a)and (b)
(3) (a),(b)and (¢)
(4) . (a)and (d)

B Not attempted

Which among the followmg countries would be an

~ example of coming together’ federation ?

(a) India

(b) U.S.A.

(¢c)  Australia
(d) Spain

. Choose the correct option “from the codes given
' below : :

(1) (a)and (b)
(2)  (b)and (c)
(3) (a)and(c)
(4) (b) and (d)

~(5) . Not attempted

“Which among the following staterments is/are

correct with regard to the amendment of the -

Indian Constitution ?

(a) Parliament has the power to amend any
part of the Constitution except for Part III.

(b) A Constitutional Amendment Bill can only
be introduced in the Lok Sabha.

(¢) The Constitutional. Amendment Bill once
passed needs the assent of the President.

Choose the correct optlon from the codes given

_below :

(1) (a)and(c)
(2)  Only (b)
(3). Only (c).

" (4)  (a)and (b)
'(5) Not attempted
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| 6. sherf i w3 1900 & @ 2020 7 B (% L“um‘;g’:“:t}czolzni;aedhlas won the maximum
} o wof gew A 8 7 ' ‘since 1900-to 2020 ? @8 under which category
| @ FrmEh | (1) Shooting
. @ T (2) Hockey
@ '(3) Boxing .
(4) FHwt , €)) Wrestling
(5) W?@"fé:nm% . (5) Not attempted -
. B 11 ﬁqa’:a‘( 2022 s ‘iﬁﬁ gT?ﬂT ﬁa'a W il 9. A What was the slogan of the ‘Patient Safety Day’
) E T o1 ? ‘ which was observed on 17th September 2022 2
iﬂl : (1, “ereem, o aaT ‘(1) “Health Without Medication”
!\. ; (2)' “ah TR S (2) | “Méditation Replaces Medication”
'1 R L - (3). “an, fem W” 4 :  ; (3) “Medicapion Withbut Harm”
L @ e Ee A | (4) “Health With Yoga”
: '-(5)'- éﬂﬂ%“f’.éﬂm@ﬁ -“ L] ® Netattempted
2 'ﬁmf%{%ﬁ A ﬁ ﬁFH W W SRﬁ"T ﬁtﬁﬁ % @a 10. . Which of the following plastiés is used for ﬁlaking
i ¥ o R ST R 7 R . " electrical switches ? - |
(1) W%Qﬁ? : ' ) ; @ 'Polytﬁene' |
2 ddd (@ PVC
@ e (3) Bakelite,
@ (4) Teflon
| I q—&ﬁ é’ﬁ ;"ga » (5) ~Not atfémpted
= ;ng ™ 2, forash ‘ﬁa "macf\_’ﬁ Eﬁ g |11. What‘»is the name of the plant group whose
ngﬁ % (s plants bear naked seeds and are usually
D frdemp : ; peren‘r'liat_l, evergreen and woody ? ‘
@ P - i (1) , Gymhpsperms
® ﬁ@”ﬂ'ﬁﬂ @) Angiosﬁerms
@ e _(3)  Pteridophyta
. (5) mqﬁhiﬂgﬁ A ‘@ ‘ Bryophyta
M (5) Not attempted
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_ frferfad A 4 HH-A1 98 %Y 29 : 12. ~ Which of the followmg is the correct sequence ?
" P >ﬁ21?ﬂ$2 >-?ﬁ?ﬁT’$€ ol m ‘ » el Kllobyte > Petabyte > Yottabyte > Megabyte -
(g TETEE > fRdrEEe > mﬁz > ez , (2) Megabyte > Kilobyte > Terabyte > Gigabyte
) m S ﬁ'amsz > ¥aTEe >ﬁFT|EnsE ' _ (3) Exabyte > Petabyte > Terabyte > Gigabyte |
(4) faemEamse > ECACIE finTaTee >_2TW|3? | ' ' 4) Petabyte > Zettabyte > Gigabyte > Terabyte -
& B?R & 3 “T:ng% SIS - S AN (:)) 'Not atte‘mpted . : .

13. TETEI , ﬁl"’f G Q\g:(ﬁ % %E’EF Eau 29 118.- _Googie, ]'3ing and Yahoo are examples of
' (D “Search Engmes

(D SR _ _ ,
(2) WEEA TeAhIA e (@ Mobile Apphcatmnsb Aaele oo X ‘
(3‘) amm | | @® Software - | '

4) wRREE ‘ | (9 Firewalls

5) mqﬁamma (5) Not attempted

14. Whlch one of the followmg statements is correct

14. mﬁawmwwmm '
T Rt Aed e . - X about Umform Resource Identifier (URI)

(1)  Itisa ‘set of rules Wh1ch is used to retrieve

ot =1 g o liecs _
1) e @ o R o ® - hnked web pages across the web.
| ﬁg%gqéaﬁshaﬁm%mwwél _
‘ aa (2 It is a unique address or path for each
() T 99 W I A %EIE” KR %Q @ 13“ " g resource Iocated on the web
- (fgdt AFT IR | - g '
_ ( ) g ) (3) It is a unique value assoclated with a
(3) . 9§ "eadwh TSR Gﬁ'ﬁ T ‘é{fﬁE aﬂ% ' _ »‘ network adapter.” vy B
@) T TH LAh g % R g b & TAF : @ It is a'un'ique'address that can be used to
B Ao i ¥ q—gen:n AR R | : 1| umquely 1dent1fy each node in a network. '
’ g () IW ?ﬁﬁm E!Taﬁ T Ry A 6 Not attempted : '
16 ﬁﬁlﬁi‘f\@?r 79 ﬁq gﬁﬁ?ﬁ F 2 1% ETETa'H # srer|15. . Whlch of the followmg is used to ensure accuracy
.Hﬁﬁﬁ (FRER) o Freaafig 2 2 , e and reliability of data in the database ? |
(D g-raa-g AT ' ' | "y (1) Database Schema ‘ e
(2) g‘laa'gq;\%q n i . G gy e (2) ~ Database Constraint
® e .- | ® DaaDictionary -\
W g § 3:\‘%:9 F o G o : ) Database'instance :
' 5) TN q_apf > TR e : " (5) Not attempted A
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- 59 ¥R ‘BLUN ' : .
T &1 §aY ° ’ s ‘
1BuTn ﬁ 2, 3'6ﬁ 16. ‘BLUNT"is related to 1BuTn’ in the same way,
’ §

‘SHARP’ fonre
W ks g ? ‘SHARP’ is related to . ? .
(1) HspaR ' - (1) HspaR ‘ ' 21. forefe
(2) PraHs . () PraHs '
(3) hSaPr (3) hSaPr : , , o R
(4) AhSPR 4 AhSPR %
©) Wqﬁémm - (5). Not attempted ' o " p
17. fo P ANGLES w1 wy GNASEL q g 3'£ﬁ 17.  ‘ANGLES’ is related to ‘GNASEL’ in the san @ -
7R ‘SQUARE’ 1 aasz ﬁa‘ﬁ@ g ? way as ‘SQUARE’ is re]ated to ? . | .
e (D UQSERA ‘ 6 UQSERA _ : -
" (2 UQSARE | (2)_.»UQSARE &5
(3): USQERA EE e O @) USQERAS, . o> 22. F
. (5) T 78 &7 =Ed & 2 _ (5) ‘Not attempted a i z?rs;
16, frfan i fm v @ AR L 18. Find the odd one out. ot o .
o e (1) Auditorium - Chair ST '
@ vEd W (2) Petal - Flower
e v < | (3) Finger - -Hand
(8) A.W—ET?T '(4) Brick—Wall -~ A
.‘(4) - (5) Not attempted “
(5) :ﬁtq’g‘} :
'a?TEn?ﬁ R ~ - |19, -Select the combination of numbers so that th
19, ) HEIr e F1 T FIRT ﬁrﬂﬁi 3-‘13!?11’ 3?&1’& #t| ~ letters arranged - accordmgly will form 1
Wmﬁ@@mwmmgﬁ < meamngful word : el o 1) *
GNAEHR GnNAEHR [F T N
i 1.2.8°45 6 1258 47516 . N ?5«4
(2))531246 ‘ @ "_531246_5 '-533}6"/ ® ¥
4 3,3,1,2,6,4 | T gt v% (5)
0 m:;f 4,1 " S @ 356241 e e |
20, Y. g 5) Not attempted o .
Mg, . , :(0) i y3, FrAfer
m:‘ﬁ’{@m%QRSOPMNJHI#-—12345 20. XYZABCQRSOPM,‘JHI#_1234J P
%%m W Y ot o frffed § @ - Which of the following is third to the right of tf 91
(2) My .o il el element which is exactly in the middle of th
@) | My ‘given eeqeenee9 | " _ . \(1) 17
@ g 1 M ° . N (2) 17
(5) M @ N | L 3 L
) J | v | @) 20
i il L © >
ot attempte P '
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ﬁﬂﬁ‘lﬁ?ﬁ EREERH 'ﬁ:r.m 27 [@éﬁnd the odd term out, ;
15, 20, 24, 25 6,15, 2 124,25 . '
SR g
@ 15 ) NN /\U\ [
= @ 20 \o % >
' . oy
3 2 @ M SR AW
@ 25 D> L
). I a:ﬂﬂﬁﬁ ' ~ (5) Not attempted
IR b
o " |22. Three statements are followed by three
99, @ wul & a1g I Freed fiw Mo § | wmea: @@ conclusions. Take the statements to be true even
qet @ firer gid gu oft ST Bl | A T AT v if they seem to be at variance from the commonly
U Hifim 5 ot = ﬁ ﬁq_m/g ﬁmﬁé fu M wodi| ~  known facts. Decide which of the given
3 ﬁmﬁ £ : 7 conclusions logically follow from the given
%"217" 5 @E % . statements
Al 4 - ﬁz % ] Statements : - Some plates are spoons. @
- wf El-.—a:{‘ . ' " Some bowls are plates.
T , @‘ﬁza@i% : -All spoons are bowls. _
iy . (D . : ﬁ ﬁ ?!'HFT % | Cdnclu‘sions ;D Some plates are bowls.
sy '353 1?:1?{ 5, ; In Some bowls are spoons.
, (III) . Some spoons are plates.
(1) e I3 11 Froberd § ¥
@ Fad I 3ﬁ( 11 ﬁm’?f 3 (1) OnlyT and II follow
@) 3 [ 3T 01 ﬁwﬁ % (2) Only II and III follow
@ H‘ﬁ LTI 3#{ I & a 5 (3) Only I and III follow
& st Sl (4) Al 1, II and III follow
-l | /5) . Not attempted
23. ﬁw’r%aﬁaa Tt @t # 3 76 () F N W93 Which number will come in place of the question
- H@T ﬂT@ﬁ ? e - mark (?) in the following numerical series ?
27, 216 729, ? 3375 27, 213, 7%9, _?_,3375
q_) 1729 (1) 1729 o
‘(2 1728 @ 1728 Mot
(3) 1500 . (8 1500 e
(4) 20736 (& 2076
) 3 i B e (6)  Not attempted
T T4 % ToT T / SPACE FOR ROUGH WORK
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You are the owner of a restaurant. Ong .

| 24,
24. A Ch T F mifeis § | T @ fefrall e delivery. boys met with a minor aCCldentw i
R T g A e § A %‘m N rushing to deliver the food on time. He ne,, 8.7
: R B Sty IR s5 R F I mayq%ﬁm " for 5 days. Which of the following actmn.S Yl) ' =ferere faait
‘mﬁw%ﬁaaﬁﬁﬁwﬁmiméﬁﬁ? e |y take ? : <ferere Taafe
) AR A REE I = (D You will terminate him from the Servigg sffer T
Q2 JA93Iq 51:!;—;{ ¥ ﬁ‘l’qﬁﬂﬁ'ﬂ T:b'( E| | ; . . (2) You will Suspend h1m for.5 days. =~ - Syt X 2
3) 9 5 ¥ f_va e r—- _S@ w I F (3) - You will ask him to go on leave Wlthom‘ g
s, ¢, for 5 days. : ' > :
(4) AW W 5 Ry W Hﬁ?ﬂ g e 3ﬁ( 3"@7 " (4) You will give h1m pald leave for 5 dayy, @ 210
i = ﬁ'ﬁmmw%ﬁwﬁﬁl S ~* will also pay for medical expenses. - o
(6) " IW T&pf T = R, T . (5) Not attempted ¢ A
, ’ ' ' ' (4) 300
25.“"""(") v Ty
A, B, ‘C, D EBﬁIFE_ﬁ'Wﬁﬁal C D‘@[EET25. ‘A’ ‘B, ‘C, ‘D, ‘E’ and ‘F’ are SiX persons, { -
RN LR O R e ~ older than D W is the youngest. B and p, O °
B ‘E’@IEIET% | ¢ ‘F’@Iiﬁa% | ‘B’ﬁa@ﬁ‘«l% ? | - of equal age. ‘B’ is older than ‘E’. ‘C’ is youy
‘ 'A 1 Caﬁt D ’ ‘ - - than ‘F’. Who are older than ‘B’ ?
(2) CaﬁIE . : e . (1) Cand D ' 29. A T 3
B Bt S L R e T @ CandE w@@@ 2 old a
@) F3nc PR | (3 FandE o b RUEEUE T
“ ! | ol RN c1 0= -
G wqgﬁamm—;] gyt 7 . @ FandC ; p'7 1 da
: (5) Not attempted J ; -
26. ﬁm%@ammﬁ‘x%emmﬁqm ' : e : 432 fea
T :m&n smofre : 26.  Which number w111 replace X in the gm 3)/ ta
0,7,26,X,124, 215 - * numerical series ? ]
(1), 580 3 77 et Tl i A TR , _07,26X124215 fo, (4) na
@65 ;s R O i
IR W N T R o, "L\ lﬁf ”\1\‘“’? ®
s 4) 63 i AR Y ; o DN i B i
: _/(5)_-mq-gfamm ’ , 4) 63 | e el S . 30. PEwge
L - R Bk 1) 2 ¥ ). —Not S - | ot ¢ .
27.ﬁﬁqmma;auﬁmmm __'.. R .mPted i S %‘
. W iR | s 27.  Find out the word Wthh can be fi M H
SUPERWSION SRR IS B -y Sl the letters of the gwen T Ormed by usi?
' . gy B S g : 2 T
(2) POISON - A RIRNG Vi RESIGN, ' 3 M
3 REVISIT . - P, | . @ POISON A
4 NERVOUS . | ® REVisIT e : @, F
©) ol dimmgyt e S il s ) NERVOUS, ) 3
RAMA/A1/Page 8 — o . Not attempteq _
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29.

(5)

e

7

s 35 e % S W 100 Tt sy
e fof@ B0 S A | a7 e 70w A

siarere Tl TR T YO o= 7 3 < |

st e T | IR % R gw fea) wteae
T A ? '
r 700 |
@ 210
. 90
(4) 300 .
sl

afe ﬁmﬁﬁfa HTeT § ‘over and ab-ove"Eﬁ.T ‘da vpét ta’

3R ‘old and beautiful Eﬁf ‘sa na pa’ o s %‘,

3 v g2 T 3 ‘and’ N BRE R feren s 2 -

‘ . (_1)- da
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28. On. Ajay’s birthday, chocolates were to be

)
\/3
2
-

-~ ..(5)

29,

distributed cqually among 100 children. He could

distribute to 70 children only 80 that each child

‘got‘ 3 chocolz}tes extra, wa many total

Not attempted

In a certain code language ‘over and above’ is

Qritten as ‘da ‘pa ta’ and ‘old-and beautiful” is

' _7 'Wﬁtten as ‘sa na pa’. How is ‘and’ written in that

code language ? ) | LS
() pa . (1) da . mp\
@)/ ta © ..pa
_ (4) na - , (3) ta-
(5) I e (4 na
3 ' L= Q. | (6) Not af:t_aempted
30. i uq w1 T wmmsw < vem W% @ Hfea e ‘
PEER -|80.  Find the odd one out which is coded differently.
(1) HOPE ; EHPO e . |
: ) ‘ 5 (1) ‘HOPE:EHPO
(2) T :ET / ' - .
g UNE EINU, 2.0 (2) TUNE:ETNU
(3) MORE : E'.RMO . (3) ) ‘MORE . ERMO
4) PLAY:YPAL (4) PLAY:YPAL (,
®) I 7 ¥ = (6) Not attempted ’<\ /
RAMA/A1/Page g | % T4 2 ToT0 T / SPACE FOR ROUGH WORK R (
: v
Y 7 :] )
{ / N

chocolates were available for distribution ?

) 700 x
(1? ‘. oA /"‘DM(M’
(2) 210 | \ =

. ' ; o
(3) 900 > N2

A~ \“ .\
(4) 800 | \o™ e &
AT
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: _ 31. The closest approximation of the ; e
31. 4 T ‘ product 5 011%\_ afg A
0:8333 x 025 x 0-499 x 0-125 x 24 03333><025><0499><0125X24 B
| F1 Fipeay R S = | s . 5 =\
| . 1 P w3 P A
f "8 Yo\ 9 8 5 \y?\[
1 Zf Wz \ 3 L] v
| @ 3 2 T V2 @ 2 ° V{ A .
I o 4 ) \F% ¥ 2’ 4 s ¢ [ (
1 s 3 ®© i‘*\ /l/ T @ 3 ? NN ; =
- PPz '\ - 8 Yo 2;} ®
KX X O P |
@ 2_ @ 2 - ¢
- IW q%’f é?l'r IR . ‘ "(5) - Not attempted g
aﬁxqm3aqzﬁ-qg@7§3ﬁ(y,xé;aﬁﬁ'ﬁﬁﬂﬁm32. Ifx1sa3d1g1t number and y is a my, 31
%9 F goel 9 Y el H’@T g} a’r g'@m x-y)| ~obtained by permuting the digits of x i, e
w9 R ‘&‘ﬁT : L manner, then (x — y) is always divisible by: 1D
o R T g e IR e
L 9-1 RETR AR YR | " (4)
(4)' e (5) Not attempted T (5)
S 33. The sum of two numbers is 45 and &
33. < wEs W 45 3 q STHT H=T zﬂm Edl difference is one-ninth of the sum. Then i 37. dm
gaf a1 & la@mﬁmLCM% SN Lo M_&:}\ wy o i
1 100 - B (D 100 §: (i _
@ 150, . T T SRS IWE) (150 TVl LY Biz
@) 200 - g ot - (® 200 - o (O’/(,‘c e)
, @ 250 G o @ 250 : el S (2)
P (5) wqﬁém‘vnaé e il (6) Not attempted - _ \ (3)
34, W fiftm e e, . f%,rﬁq—ﬂ ﬁma ﬁ§3ﬁ w|34:  The traffic lights at three different signal pi )
o TR E w45 3, 75 ks 90 m% |, change after every 45 seconds, 75 secondss (5
T @ R | AR T T © "y 7. 20 : 15 Hé i ‘90 seconds respectlvely If all” chu
. weed! €, dt aFelt an Tz fey EIG} @ HTSI Eﬁﬁ"ﬁ o SImUItaneOUSIY at7:20:15 hours, then they* 38. (§/
W 7:98: 00 : ~ next change again simultaneously at : y ‘
S O () 7:28:00h LS 4
@) 7:27:45% Sl S . i g " (
3) 7:27:30% e b o . - (2) " 7:27: 45 hours ~ Y f (2
@ '7'27'-3:% e et e - (3 7:27:30 hours Al 2o @
: qﬁf:n : ‘ (4)  7:27:50 hours S & : (4
2 & : i\ - ; (6) * Not attempted o (5
AMA/A1/Page 10~ 2. Y,
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35. If the income of A is 10% more than that of B and
@, C £ 5T ° 20% F9 B, @ HU: A B o1 C - the income of B is 20% less than that of C, then
£ @ # 3:13qTa% ‘the incomes of A, B and C, respectlvely, are in
’ the ratio : e
: :10:8 =
v 1 o . (1) 11:10:8 ca\® yo L
” . ; ~
@ 22:20: = (2) 22:20:25 it ‘#)‘2’\
(3) . '825 | (3) 10:9:7 K . \7’
(4). 22:18:20 (4) 22:18:25 ) 2 v\zo_' ¢
(5) Wﬁﬁ , - (5) . Not attempted VR
_ : e | . . AV
» ' ~
36, i X . tn‘-g @ 1” AR 9% 3'9 PELUE IED TTH 36. Mr. X has some money with him. He has to
1 ;‘ .o 5 : ' .
/ fl ﬁ . * ST Eﬂ? distribute this money among five labourers in the
- 2 3475 i R ratm 1, '- 1.1.1 What is the minimum
‘%lm%mwﬁm%:ﬁuma:ﬁm C 2.8 4557
' ﬁ—gi} m ﬂﬁﬁ'\( ﬁ Tﬁ E’@H 1 ‘Q'trq T g; 9. ' amount he should have, so that each labourer
‘gets an exact number of rupees ? . \6Y 2
‘»(1)-'2‘358' ot ek O NEEE-tA :
e (1) T 358 W S
@) T420 ‘ Sl M W
T k@ %420
(3) 512 ' : Sl 3) 7512
(). 7599 f (4) T 59
§5) el T&ﬁ ETT , (5) Not atteﬁiﬁte'd .
37. M T F"@TQ % 1= ﬁ H@Ta‘h & mﬁ F7|37. There are three positive numbers. One-third of
' Q’%ﬁﬁé FIEI'{ET El_&pl‘{:l'@l'[ ﬁ 8 E i IFﬁ'@f B 'Gl'@iﬂ - the average of -all the three numbers is 8 less
3R glq-ﬁ o) g‘-\-a & £l azﬁ'ga 8 % I ga—é | ~than the greatest number. The average of the
H@lTﬂ]% ? : .smallest and the second smallest number is 8.
| What is the greatest number ? .
(1) 9. _ : )
@ 10 T s
_. oo (2) 10 ' Y s - W
" ; 3 . b T ' y .s.\ék"l/' 'BK .
A 14 , 4 14 - : , g_na\_,“;)-
B) T T ¥ (9 Notattempted N V
. U L : | 8\}“_» @
38 (VI Y316 + 730 + Y1) T 2 a8 fmm YT + 4735+ R Jisequalto:  ~~
(1. 13-62 T : R (1) 1362 N a i A
@) 79 2 79 Wb N
- @) 1489 (3) 1482 (:‘:}o\
@ sogg (4)- 9088 _ Vv
“-\33(__@ %Tl % (6) Not attempted
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39.

- 40.

- 41,

| 42,

(1) 21,000 il '
(2) 22,500 o™ f 4
(3) T 25300 N <+ r;>
@) %25800 | ‘éxé‘ -
(6) SWAR WA &
: . R ~ |4o0.
A Th g 20% @ W A<, @ e A §HEE
@W%mgwaﬁtﬁamq@ﬁma%" |
1 5:11
co
(2 5:6 \*8 /\N’W
3 6:5 | ;
@ s y :;»,cﬁ(qi
A%r?ssoooamanaammﬁﬁml 5141’5'%:
m?55000ﬁ@ﬁmm3ﬁﬂﬁwmﬁ
vaw fomn | o % ofd # T 22,000 FFA A g |
ﬁmﬁﬁaﬁqvﬁv&IAaﬁtB%m%Ww‘
éwrm:r%? . Q" : :
@) 71,007 B )’( )
@ 1,192 A
T1,857 .. :}3‘ }C(, 'bgf ¥ |
- S ‘ ‘ ‘.r
@ ?1928 L ’,.Jg.‘--'r.,a_o" 1l ¢
14rﬂ ﬁwam%rﬁ wﬁ%wa‘mémw@-

G

- (B)

sza?r%lsmoﬁéaﬁqt sﬂéﬂﬂﬁ%ﬁ?a’ﬁ‘
‘ 15%ﬁmﬁ@ﬁ%115%ma;masm‘ﬁ
'%cﬁﬁé%? . i

g’mwﬁmmwn@?muﬁmm

| 39.

GET IT ON
Google Play |

When a plot is sold for ¥ 18,700, the owy
15%. At what prlce must the plot be S()ld

to gain 15% ? °Ed

EON 21,000 P 3% /\@
(2) T 22,500 = ‘
AN Y
(3) ¥ 25,300 ’
' N~
(@) 725800 | K
(5) Not attempted

If an article is sold at 20 percent profit ,

~ which of the following is the ratio of its cogt b

to its selling price ?
. B | < 1
1) 5:11 W
; - M{» 4
(2 5:6 ?
(3) 6:5 -6
(4) 11:5 -
N,()t attempted‘

(5) .

:

417/ A started a busmess mvestlng ¥ 38,000. 2

5 months B joined ‘him with a capita

. T 55, 000. At the end of the year, the total p

was I 22 000. Which out of the following is

"approx1mate difference between the share

..-’_proﬁtsoanndB'7 & Ab)

(1) 71,007 R 5
2 1,192 g b
\ ‘ v
(3) T 1,857 NEEPY- ¥ NSc
‘(4) 71,928 %{g e 3
:‘(5) Not att‘.e.mpted % q-_;l/;:

The “cost of a solid cylinder of radius 14 m

" height 3:56 m, when, the’ cost of its metal is’

- per cubic meter, is :

v

(W 271,00,208 (1) ¥ 1,00,208 . Q\%vyf
@), 107,800 (2) ¥ 1,07,800 w_ @’\*
(3) % 1,08,000 (3) ¥ 1,08,000 /x e V‘/
(4) 71,0080 i (4) ¥ 1,09,800 ' '\\>’°/’
‘ (6) 3N ?ﬁ%?f EIEG '(5) Not attempted < /\/\
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45,

©)_awnf i
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s o T o e gt

.WQ‘TI" 7 L

W _521%# i \?b
@ &R K

3 sofer _ b ki
(@) 104f7 |

6) IR

.as%%aﬁﬂangﬁawﬂv- ‘

(3)

2‘-I7

lzﬁqﬁﬁeﬁmam?lsauﬁrﬁﬁﬁmﬁm
Eﬁm%ﬁ@mwﬁmﬁl 1:9 %

3 foemn T | AR T g = 1p3 gy
et 2, ﬁmﬁmaﬁrwwmﬁ;@mw

2

1) '<’16.9.'5-0 |

@ Fw00 = e
@ TITHE0 B Lt /\6 /
W 18000 _ ‘ \/
() [\7%\/ |

g fm i R ER E TalE SR g wa 6
af 1 SAE 8 ¢ 5 B | A ek W g H

mmm,aﬁaﬁ'wwﬁﬁr«ﬁﬁqﬁ@w o

@mwmm7aﬁﬁ§gﬂﬁmﬂ%l

187
219§
38 34
a1 .

(1)
(2)

(4)

43.

44.

45.

@

GET IT ON
Google Play

Tea worth. ¥ 126 per kg and ¥ 135 per kg are
mixed with a third variety of tea in the ratio
1:1: 2. If the mixture is worth ¥ 153 per kg, the
price of the third variety per kg is :

(1)

7 @1 % 7T €2 | SPACE FOR ROUGH WORK

Z'169:60 .
‘ \ 5 b
. (2) T 17000 \q,ﬁ-
X
(3) ¥ 17550 \\::’, e
P 'y
(4) T 180:00 AR ’G,’/'\,\
, 12
(5) Not attempted . e
| R
A man and.a boy togethér can do a certain
- amount of digging in 40 days. Their speeds in
- digging are in the ratio 8 : 5. How many days will
the boy take to complete the work if engaged
alone ? ) o
[ ‘ X\~
(1) .52 days \ it -
(2) ' 6,8'days \ - Y~
3) 80 days e
. ' )
(4) 104 days
(5) Not attempted
A sum of money at simple interest doubles in
7 years. It will become four times in :
(1) 18 years:
. (@ "’\Y;'_L“ﬁf
21 years . .
(3) 38 years g 'ML .
N i
(4) 42 years . ¥
(5) Not attempted '
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' mountains_ and. the sea which gives the country a

_ generates both d1rect and 1nd1rect employment

" 46.

2‘-I

I

Read  the followmg passage careﬁzlly and answer
questzons 46, 47 and 48. - ;

India is one of the oldest c1v111zat10ns of the world
which offers a kaleldoscope of cultural experiences. The
country has a rich heritage and numerous-attractions.
It stretches from the snow- -capped Himalayan peaks to
the tropical rain- forests of the south covering
32,872,263 square kilometers. It is the world’s seventh
largest country, dlstmgmshed from the rest of Asia by

distinct geograph1cal identity. India showcases a
variety of herltage resources crafted hundreds of years
ago from huge herltage sites' to pnstme sea- beaches
Tourism  contributes to Substantlal economic, soc1al
cultural, educational and. pohtlcal development that

Toumsm as an 1ndustry also. contnbutes to our
. country’s.
(1) populatlon and employment
P (2l ' agr1cu1ture and rehg]on
/ 3) "leducatlon and employment.'
(@) 'rehgmn and statistics.
(5) :Not attempted
47, Bes1des the World’s oldest cw111zat10ns Indla is |-
also the world’s __largest country
(1) “third - PIE > R
@) fifth
3 tenthiP o N G
@) seventh =
:(B) .‘,No‘t.attempte'd
- 48,

means ‘a country’s h1story,

Fmd out a word. from the above passage Wl’llch '

traditions and_ culture |

|51,

49.

50. -

52.

- alternatives,

GET IT ON
Google Play

‘

Choose the word which is - opposite ; in
the word underlined. %

“Earthquakes are frequent in Japan'_’?

(1) ext‘inct.
(2) unusual
(3) few
"('4)' rare
" (5) ~ Not attempted

Choose the Word which is OppOSlte in m,
the word underlmed

y “She’is slender i in figure.”

1) 'strong”'
@) frail
- (3) stout
@ slim
)

Not attempted

Choose ‘the alternative whieh best expresz

meaning of the underhned 1d10m
‘Her speech is always full of tall stories,

"(1);‘

long tales
-"(2) _heroic 'stoiries ;
-3 e}‘;aggerated‘tales
(4) - realistic stories -
(5) _. - Not attempted

In the followmg quest1on out of the
choose the one which ¢
substituted for the given sentence.

“An apartment buildmg in which each apa!

is owned separately by the people living int
etct. s also containing shared areas”. =
(1.') identil;y ‘ \ A1) Condommmm
(@ herltage : (2) 'Multiplek
o (3) Pl’istine - (8) ‘Duplex
- (4)  attractiong . (@) Caravan '
- '(5) Not attempteq NG Not attempted
 RAMA/A1/Page 14 | T
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pick out the éorfectly spelt word.,
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' 57. Pick out the correct indirect speech form of the
-5 (1) Outregeous . following sentence.
() Outrageous “T have bought a house,” he said.
(3) Outra.g.ous (1) He said that he had bought a house.
(4) Outrapous id that he has b
5 Not attempted (2) H‘e said that he has ought a house.
, (3) He said that he bought a house.
54,  Choose the correct passive voice form of the|. .= (4) He said that he would buyahouse
following sentence..
Sheetal will have finished the work. {6): Jl0k geniel
(1) The work is finished by Sheetal.
" (2 The work will be finished by Sheetal. 58. Choose the most appropriate. prepos1t10n to fill in
(3) The work: will have been ﬁmshed by ~~ the blank.
Sheetal. { She succeeded dint of pérseverance and
(4) Sheetal will ﬁmsh the work in due tlme " hard work.
tempted : .
(5) Not at emp | (1), for -
55. Rearrange the following parts of a sentence 2 from
labelled - as PQRS to make a meanmgful (3) by
sentence. . h
4) t
P. deedsis to be : [ 0_ 5
Q. onto the future B Not attemptegﬂ.
R. _the power of noble Y. , ' :
-8 'preserved and passed ’ 59. The old man is lodking forward the
(1)- RSQP ; _visits of his grandchildren.
(2 SQPR . ) for
(3 PQSR - @ in
(4)- RPSQ _ "
35) Not. (3) to
ot attempted :
; o B S ¥ . _ (4) with
56. Pick out the part of the sentence whi.ch'\has an ) Not.attempte d
error. If there is no error, your answer 1s (4). \ =
" The simplest method ;
. _‘——~——A : N ( 60. F111 in the blank with the appropriate option
of welding two pieceé of metal tdgéther .- _ glven below.
BT — : : 'The Battle of ‘Waterloo was won of
is kng s Eton.
= Z10wn as pressure welding.
B g (D Wlth the play ﬁeld
W 4 ©(2) on the playing ﬁelds
@ B (8) for play fielded
EZ; C (4) in the played
&) No error (5) Not attempted
Not attempted
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.63,
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| @ s
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62.. ‘m-ﬁlzmmﬁ'tﬁm’—qﬁ#ﬁﬁﬁmmﬁ%;

e S A

mmq@mmﬂtﬁﬁm
wq‘a"fmmsé .

o v

S
A ot e T

|65,

‘e T 7 1 S 100 E
(1) ¥ B3 |
l(2) "m-%mqa
(3 AR |
@ mtdem
(5) A oA e

66 %ﬁwﬁﬁmaé’ W%m“&mwﬂ
aﬁﬁml

| ‘ <5) mqﬁémars%

" les. ﬁmﬁf@ﬂmﬁﬁmwwwﬁml

@)

) (@ s Y\
By R - ;( Co
(4) v\\y\

) o 7 3
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YR
e

)
@
@
®

r:'o; ‘ﬁmﬁﬁﬂmﬁﬁﬁ‘ﬂam
m%‘? < ol
arﬁﬁimw
sﬁcmaqm :

ﬂmmﬂ i

o

Ko
g
)
(4)

(5)

.:‘-mﬁﬁﬁqﬁémmggamg;‘ y
W) 3, e, W“W?ﬂ@ml. kR
@ ¥, RS LA,

(@) e, s, ot sk s o 2

S E@ meﬁqmmamaﬁq;
f_‘(5) wq—gfama@ : ,

% WWﬁmW%

o T _

W@ Y sl

(@) SR AT

v’ 3G ﬁmﬁ%mmm

74.

¢S

) |

)

o

L)

@

(1)

@)

(5)
B
@
R

|75

- (3)

%)

GET IT ON
Google Play

e
(2). Sogam
(3)‘ﬁaﬁvn

e e

ﬁﬁmmmﬁmﬁawwﬁzﬁmm
e P g o
.ﬁﬁm@aﬁq—am%. '5
‘gaaéwsamaﬁmﬁ%.
7 o

agamﬁ%’ ém%sﬁ—rﬁwmés%q

Wmmwwmwmﬂﬁm

il
—
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76. 2010 ﬁmwﬁmﬁz@ﬁmaﬂzﬁ

7. ﬁm%ﬁaaﬁ%gﬁwn%ﬁmarﬁﬁﬁﬁ@ﬂ%ﬁm

7

e

(2
(3
e

fea 2.
(1 s
39,
CEICIN
ghamrEt

(5) ma‘a"fémaﬁ'ﬁ

frzozzw‘waﬁ’wm%mmw

76.

)

77.

GET IT ON
Google Play

anguage was accorded the stat
) 0

Which 1
second official language-in Haryana in 29,

(1) English -
Urdu
Punjabi

Haryanvi
Not attempted

(3)
(4)
(5)

Which among the following personalitig

Haryana received the Padma Shri award

in the field of sports ?
Sandeep Singh

(1) w4 faE O
: & g‘ﬁ]‘(—f aﬁ‘?la (2) ' Sumit Antil
(3) Wﬂﬁ"‘ﬂ (3) 'BajrangPunia
4 Fw fE (4) Yuvraj Singh
®) 'ﬁﬁﬁﬁﬂﬁa " (5)  Not attempted
78, m—é ‘\TQCW HT@:'TT W?«'Tﬁ (m) m W feper ’;8. | In which year waS‘SAI.National Boxing Ac
| . gam? +! e B F L (Rohtak) inaugurated ?
| (1) 2019 U (1) 2019 '
\ (@) 2018, (2) 2018
| (3 2016 (3 2016
_ @ 2017 &)« 2017
{ 49 .mﬁé:" a@% (5) Not attempted
' 9. W ?ﬂTIT g 3T|%IFI gﬁmWﬂ a; ﬁ»‘H ITW ﬁ WH 79. Sporfs_perso'n‘ Seema‘ Puma,- Antil hails
| -m 27 - ‘ 8 \, which village in Haryana ?
(V) I (1) ' Ujhana S
@ (2) Khandra
(OVREER s RS " (3) Khewda
: (4) FlegEEd ' F : il (4) Kaluwas
(5) WT&‘T%WIEIT@ e ;".//. ] " (5) ' Not attempted
80 Gl i ﬂ?ﬁlﬂ ﬁ ’T§ m gﬁzrrmﬁ ﬁ')__q ﬁ g TRCW 8(')-. Which Haryanvi film released in 2015 %
W s %Q T2, : ~ two National Awards ? .
(2) 22;& (1) Beera' Shera ,
@ T " (2) Chand Chal_&ori.
@ ® Pag‘f“Gh -
o @ Ve i
RAMA/ATPage 18— woos . - e
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A ﬂ%ﬁwﬁ GRT &l T % ? | 81. Where is the Chhaj ornament worn By women ?
9/ 1)) " ' : ‘(1) Torehead
@ ™ - H (2) Neck
3) a1 . \ \ (8) Hand
@ | Sl @ Waist
5 I e Lih (5) Not attempted
feqrort T - T &9 R aﬁv; tnef;ﬁ + wufta 82. Which dance form of Haryana is dedicated to
% 39 | ~ Shiva and Parvati ?
- (1) Manjira Dance
(1) -m :[Fq % EZ; LasyJa Dance
7 e - ‘ (3) Ratwai Dance
@ b 7{5’1 (4) - Gangor Dance
45 Trrﬁtiﬂ ‘ * (5)  Not attempted
6 IR T . , - |
3# _— ﬁ o fem mﬂ. 83. Consider the following statements : .
: @ <, e & TR e w1 = % . @ I(;;hope is a style of shawl manufactured in
S R & e,
: ®) %n_? S Tt (b) ~ This'shawl style is also known as Phulkari.
| Z #3 FHa /g FIT ‘H‘épl % /% 9 W}ucht ?of the statements given above is/are
_ correc
M ¥ @) ‘
(1) Only (a)
2) w9 (b) ,
b a:h (2) Only (b)
, (?")" (@) W ( ' - (3) - Both (a) and (b)
(4) (a)qa(b)ﬁﬁaﬁéqﬁf . : |
é=n ey R . .(4) Neither (a) or (b)
y ﬁ(5) Bﬁ'{f{épf " (5) _Not attempted
34, 10 & i Ea—““ "ﬁ 13 & T 84, After the death of Najib-ad- Dawlah in 1770 AD,
" ofaeE Tl fem 2 - who ascended his throne ?
(1) 37Rwg WIg FAsqTedl (1) Ahmad Shah Abdali
@ EEm (2) Jabit Khan |
i (3) EEE . - (3) Najaf Khan _
@ RS ﬁwﬁw (4) Mahadji Scindia
(6) I %n%'% (5) Not attempted
35. ‘ETWWT[ ﬁ gﬁqg ag@a ‘s,ﬂ’a H1 ﬁ!ﬁW el %"T‘ 185, When was the famous Badkhal lake of Haryana
q9? developed ?
@) aF 1947 % (2)  In 1947
@) T 19508 (3) In1950
(6) Not attémpted
) wwamam mpte

q'°\MA!A1IPage 19
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TINTU L Iy Y BIRYIVIL Sp INIQTE W A

Wﬂﬁﬁqwaq%aéwm:mﬁﬁgﬁﬁﬂﬁm=
- AT FHTTI
1. O9s®s forar
I SES Sl
- IL e, qrftad
Iv. Wigseer LB
Ib; Il III-d; IV-a
I-a; II-d; III—b' IV—c
I-d; Il-a;° III-b; TV—c
Ic; II-b; IM—a; IV-d

o

a0 Top

@)}
(2)
3
Y
6))

gy e e e R R
s
@ sfwEm
@) Hud

®) w#’aﬁ%mwé

88. gﬁawnqama“rrma:ﬁrﬁm 1994asammxas

-7 Wﬁﬁ%ﬁﬁﬁﬁﬁaﬁ?ﬁgﬁﬁmﬁﬂﬁﬁmw‘”

ﬁg?ﬁa'g?ﬁm?ﬁ‘? 7o (T
(1) amr%@:ameﬁﬁ : v Y
(@) T | B
@) W@WG&%
(4) ﬁﬂé@ﬂﬂm(aﬂ%z)qameﬁrﬁm
(5) W?ﬁf%ﬂ%ﬂ@%

. . .
" mﬁm‘wmmﬁwmmgé? |

|87

" |ss.

89.

@

G

' 3)
@
- (5)

GET IT ON

Google Play

i

Haryana given in Column I with the;, ;LE
. ,

R , N
names in Column II: &

Column II

ColumnlI =
1. Sairishaka a Sirsa
II.° Kanoud b. Kaithal
I1I. Kapisthal c.  Panipat
Iv. Panduprastha d. Mahendragarh
(1) I-b; Il—c; VIII—d; IV-a '
@ 'T-a; II-d; [I-b; IV—c
@ I-d; Ta; by IV
- (4) I—c; II-b; IIl-a; IV-d - ~
Not attempted

(5)

Where is Baba Ladaana Tirth Sthal situateq

@
@)

Rewan
J md :
Ambala k
Kalthal

: _.Not attempted

(4)

Which of the following committees is

" appointed by the Panchayat Samiti accordiz

Chapter X of the Haryana Panchayati Raj:
1994 ?

(1)  Social Justlce Commlttee

(_2) ‘General Commlttee

Health‘ and Welfare Committee
Finance, Audit and Planning Committ

* Not attempted

When was the first pM
in Haryana ? :

(D) VEC . :
@ 10w 1955 ok ( (1) | 7fh January, 1955
» 2005 . : ' th '
(3) 7% { _ (2) 10_‘ May, 2005
, 1998 ' e
th
(4) 1 7awy, 1966 ‘(3) 7" August, 1998
(5) I T 3y ey (4)  1%*November, 1966
| RAMA/A1/Page 20 W (6)  Noi atterpted -
: “‘W & forg vy SPACE FOR ROUGH WORK |
N O . .
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90-

- 91

92,

93.

04,

. Bl =1 T et R 2

e T8 1t 3 wtfes a2 4 4
) fE | | '
(2)' FHHAEAT

3) FoET

@) Rl -

(5) mqﬁﬁm

g T By
w fE ‘

(@ &

(3) ~ HIEETg
4) ®EA
(5) I TE & =R

g&awna?rwa% :

(1) WEGHYR Jehl

(9) 3Ty SATiT TeR

@ vl g wEdE

(4) AT I YR

6 sﬂﬂtﬁ%m%rmﬁ

‘ ﬂ'&'ﬁﬂT LD f%t@rm <5l @5}3 ﬁb_(rrﬁ Toha nﬁr ED)
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90.

|91.

92.

93.

|94

GET IT ON
Google Play

- Which district of Haryana receives the highest

rainfall ?

(1)  Hisar

(2) Ambala

(3) Kurukshetra
(4) 'Bhiwani

(5) Not attempted

- Where is the Blue Bird lake located in Haryana ?

(1) Hisar
(2) Jind’

(3 Faridabad .
.. (4) -Karnal

(5) Not attempted

The climate of Haryana is .

(1) Continental type
" (2) Sub-Humid Temperate type
- (3) . Sub-Tropical Dry Continental type

4) Sub-Humid Sub-Tropical type

(5) Not attempted

What is the One Time Cash Award for Mahavir
Chakra Awardee? - 7
(1) . z 2,00,_00,000

(2 % 1,00,00,000
(3) T 4,00,00,000

(@) % 6,00,00,000
(5) 'Not attempted

_ What is the State Bird of Haryana ?

(1) House Sparrow
(2)  Great Egret

T ® .. Humming Bird -

-'(4) Black Francolin

. (5 Not attempted

95.

Whlch mty is known.as the ‘Heart of Haryana’ ?

‘(1). Ambala

(2> Jind
(3) Gurgaon (Ggrugram)
(4) Pahchktﬂa

- (8) * Not attempted
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96. TR TSy woie & faeia-ad 2022 — 23 ﬁ@raaaz
Hﬂﬁmﬁmﬁm%mﬁm@ywwﬁm

_ TR ?
(1) 18-2%
- (2) 164%
(3) 14:2%
(4 152%

(5) Fo T T T

97. mﬂﬁﬁgamaﬁﬁgam 202
ferat 8 7 ,
(1) 68,557,609 |
2) 71,17,384"
(3) 172,17,283

(4) 73,07,992
(5) m#é’f%:nmﬁ

98.
'Wmﬁﬁwmﬁaﬁm%?
2 @ 25 »
! @ 22 ..

3 23 e

(4) 24

) mq‘a"r%maﬁﬁ

9. ‘rémma \-rmmrna a’rwésaqwhmaﬁzozzaﬁ
Wmﬁaﬁsﬁmw%? g

(1) 13216,
(2) 5,569
3) 4,806
@) 3,560
(5) :ﬁ(;‘—ﬁh T

: mﬁw '*Q“ﬁfw'qamzafﬁm (NBHM)
TR T o 3 ®q7 ‘

@ 2018

(3) 2019

4) 2017

- g&mvrrmf\efasa&w 2021 —22$31§H1T3ﬁ‘&1“ﬂﬁ_

917.

1_22a®h| .

99.

(6 3T T gy

96.

98.

100. Natlonal Beekeepmg

GET IT ON
Google Play

‘What is the percentage of the total ex
allocated towards Education in Hary Pendit
Budget for the financial year 2022 — 23 G;n
1 182% |

(2) 164%

(3) 142%

llrQ
tatQ

(4) 152%.

(5) Not attempted

What is the total number of electricity COnsu'
in Haryana till 2021 -227? mery

(1) 68,57,609

@) 171,17,384
(3) 172,17,283

(4) 173,07,992-

(5) N ot_attempted :

How many District Lével Treasuries are there
Haryana according to the Haryana Econom;

Survey, 2021 —227?

@ 25

(2) 22
(8) 23

4) 24
_"‘(5)' Not attempted

How many v1llages have been associated with
me till Januan

‘Mhara Gaon, Jagmag Gaon’ Sche

920227

@ 3216
(@ 5569
(3) 4,806

@) 8,560

(-5). Not attempted
and Honey Mib“iol

(NBHM) Scheme was started in which year U

Haryana ? -
(1) 2020

(2) 2018

(3) 2019
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(4) 2017 S .
(5) Not attempted E /
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